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Note: Answer

b. List and explain the ideal re of control system.c. What is control action?
proporlional plus in

2 . a. Find the for the mechanical shown in Fig.Q2(a).
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1 a. Distinguish betr,veen open loop loop control sys suitable examples
(06 Marks)
(04 Marks)

roportional plus integral and
help of block diagrams.
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3 a.Ob

(10 Marks)
obtain transfer function,
input voltage.

(10 Marks)
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sed loop transfer

shown
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of the shor,vn in Fig,Q3(a).

Q3(a) (10 Marks)

Q3(b), determine the transfer function r.rsing Iviason's
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b. For the signalflow graph
gain formulai''
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5 a. State and explain the

b. Draw the Nyquist
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(08 Marks)

right half of
oscillates at
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(06 Marks)

(14 N{arks)
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4 a. Derive expressions for the response of a first order

Rcl +

b. Write

to:
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(16 Marks)
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